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Q.2 study the given pattern carefully and select the figure that will complete the pattern given in the question figure.

2
<t

Ans

#L
v

Q.3 Select the number that can replace the question mark (?) in the following series.
137,148,161, 176,193, ?

Ans 1214
W 2212
&03.224
4232

Q.4 Select the number that can replace the question mark (?) in the following series.

5,10, 17, 26, 37,2

Ans "1 48
W 2.50
X 3.47
X 4.49

Q.5 Select the option that is related to the third term in the same way as the second term is
related to the first term.

Circumference : Circle :: Perimeter : ?

Ans &' 1.3D
&< 2. Big
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x 3. Breadth
( 4. Square

Q.6  Select the correct mirror image of the given figure when the mirror is placed at line AB.

A

Ans

vi| 4

Q.7 Read the given statements and conclusions carefully. Assuming that the information given
in the statements is true, even if it appears to be at variance with commonly known facts,
decide which of the given conclusions logically follow(s) from the statements.

Statements:
I. All red are cars.
1l. Some yellow are red.

Conclusions:

|. Some yellow are cars.
Il. No yellow is red.

Ans x 1. Only conclusion Il follows.
x 2. None of the conclusions follows.
X 3. Both conclusions | and Il follow.

« 4. Only conclusion | follows.

Question ID : 239087318
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Chosen Option : 4
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Q.8 Read the given statements and conclusions carefully. Assuming that the information given
in the statements is true, even if it appears to be at variance with commonly known facts,
decide which of the given conclusions logically follow(s) from the statements.

Statements:

I. All wood are chairs.
1. All chairs are blue.
11l. No chair is a table.

Conclusions:
|. Some tables are blue.

Il. No wood is a table.
11l. Some blue are wood.

Ans x 1. Only conclusion Il follows.
x 2. Only conclusion Ill follows.
x 3. All conclusions, |, Il and 11, follow

“ 4. Both conclusions Il and IlI follow.

Q.9 Five articles, K, L, P, R and T, are kept one above the other (not necessarily in the same
order). K is just above T and just below R. L is just above P and just below T. Which article is
at the second position from the bottom?

Ans (1_|_
Kot
p N
P NS

Q.10 In a certain code language, ‘TOPAS'’ is written as ‘WRSDV’. What will be the code for
‘FREIGHT in that code language?

Ans "1 KWJINLMY
25 2. JVIMKLX
o 3. IUHLIKW
25 4. IVHLIKW

Q.11 Six computers labelled E, F, G, H, | and J are placed in a row facing towards the north (not
necessarily in the same order). Two computers are placed between E and I. G is placed
second to the right of J. F is placed second to the right of E. | is placed to the left of E.
Which computer is placed to the right of G?

Ans 1 E
2 H
arF
p e

Question ID : 239087315
Status : Answered
Chosen Option : 3

Q.12 Which two numbers need to be interchanged to make the following equation correct?

4+2+3%x8-1=6
| Know More |
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Ans " 1.8and4

25 2.2and 4
25 3.3and8
(4A3and4

Q.13 Select the word pair in which the two words are related in the same way as the two words in
the following word-pair.

Pen : Author
Ans ( 1. Knife : Chef

x 2. Surgeon : Scalpel
x 3. Carpenter : Saw
X 4. Gun : Gardener

Q.14 Select the letter-cluster that can replace the question mark (?) in the following series.

RAP, SCS, TEV, UGY, ?
Ans & 1.VUB

5 2.wJe
W 3vs
5 4.wJB

Q.15 In a certain code language, ‘ROAD’ is written as ‘40’ and ‘HEAR' is written as ‘34’. What will
be the code for ‘POEM’ in that code language?

Ans &1 50
2,47
W 351
& 4.49

Q.16 A paper is folded and cut as shown below. How will it appear when unfolded?

vvvvvvv

-

Ans

X

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



http://sscportal.in/
http://sscportal.in/

X 2

p 3

8o o8| 8o o8| |8n 68
87 78 187 73| |87 °8

Q17 Select the figure that will come next in the following series.

O O O OO
O O o} ?
A A
Ans
O
X110 0
oo

X
ool |bO0O | 00O

X
o P 0O
O

Q.18 Identify the Venn diagram that best represents the relationship between the given classes.

Males, Brothers. Daughters

Ans
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Q.19 In a certain code language, ‘ROCKER’ is written as ‘SNDJFQ’. What will be the code for
‘PRIEST in that code language?

Ans & 1. SSLFVU
o 2.QaJDTS
25 3.QQJDTU
5 4. RRKEUT

Q.20 select the option in which the given figure is embedded. (Rotation is not allowed)

)

Ans

.

52

o -

SEBR K
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Q.21 Five products, N, L, T, V and R, are placed in a row facing towards the east (not necessarily
in the same order). T is second to the left of U. N is second to the right of L. R is to the
immediate right of U. Which product is at the second position from the north end?

Ans o 1T
K2
3N
K4l

Q.22 Select the option that is related to the third number in the same way as the second number
is related to the first number.

32:61::44:7

Ans 171
X 2.89
o 3.73
467

Q.23 In a certain code language, ‘PAIN’ is written as ‘161914’ and ‘TYRE' is written as ‘2025185'.
What will be the code for ‘LONG’ in that code language?

Ans " 11215917

X 2.1215197

W 31215147

41215417

Q.24 smudy the given pattern carefully and select the number that can replace the question mark (?) in it.

5 79
6 8 2
341
48 ? 20

Ans X194
< 2 84
V'3 88
X 4 98

Q.25 If digit 3 is interchanged with digit 1, then what will be the value of the following equation?
6+9+1%x3-2=7?

Ans
Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



http://sscportal.in/
http://sscportal.in/

prepp

Latest Sarkari jobs,
Govt Exam alerts,
Results and Vacancies

» Latest News and Notification

» Exam Paper Analysis

» Topic-wise weightage

» Previous Year Papers with Answer Key

» Preparation Strategy & Subject-wise Books

To know more Click Here

DEEEE CHmm



https://prepp.in/
https://www.facebook.com/prepp.in.exams/
https://www.instagram.com/prepp_in/
https://twitter.com/prepp_in
https://in.pinterest.com/prepp_in/
https://www.youtube.com/channel/UC5lbyL9e2Nxqev5_kWtZCwg
https://prepp.in/government-jobs-2021-news

